Series HPK561E/C SET-~4
1 EiEE Code No. 69

w— |
El et Candidates must write the Code on the
I title page of the answer-book.

r

Roll No.

-1

NOTE :
(1) Please check that this question paper contains 7 printed pages.

(ii)) Code number given on the right hand side of the question paper should be written on the title
page of the answer-book by the candidate.

(iii) Please check that this question paper contains 36 questions.

(iv) Please write down the serial number of the question in the answer-book before attempting it.

(v) 15 minute time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.
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General Instructions :

Read the following instructions very carefully and strictly follow them :

(i) All questions are compulsory.

(it) There are total 36 questions.

(ii1) Question paper is divided into three sections — A, B and C.

(iv) Section A has question nos. 1 - 14 are objective type questions and of 1 mark each.

(v) Section B has question nos. 15 — 21 (case study based multiple choice questions) and
are of 1 mark each.

(vr) Section C has question nos. 22 - 27 of 2 marks each, question nos. 28 and 29 of
3 marks each, question nos. 30 — 33 of 4 marks each and question nos. 34 — 36 of 5
marks each,

(vit)  Internal choices are given in some questions.

(viit)  Support your answers with suitable examples wherever required.
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SECTION A
Objective Type Questions

Mr. Mahajan’s room geyser is not working. At which stage of the guest cycle will the
hotel staff attend to his complaint ?

(A) Arrival
(B) Departure

(C) Pre-arrival

(D) Occupancy

According to the Factories Act, 1948 there should be provision of _ in the
factory.

(A) potable water

(B) shade

(@) creche for young children
(D) protection for women

Eighty-year-old Mr. Sharma lives in a remote rural area. For medical care he can seek
help from :

(A) Day care centres

(B) Mobile medicare centres

(@) Multiple service centres

(D) Old age home

(a) Who introduced the foot treadle for the sewing machine ?

(A) Isaac Singer
(B) Levis Strauss
(&) King Louis XIV
(D) Coco Chanel
OR
(b) Who introduced denim pants ?

(A) Isaac Singer
(B) Levis Strauss
©) King Louis XIV
(D) Coco Chanel

Your brother is wearing a blue tie with white shirt and black pant. What is the colour
scheme of his outfit ?

(A) Accented neutral
(B) Monochromatic
(®) Achromatic

(D) Analogous

(a) Your brother has not gained height since past five years and hence is the
shortest boy in his class. His condition is known as :

(A) Stunting
(B) Wasting
(@) Underweight

(D) Obesity
OR
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(b)

Your sister is very tall but her weight is below average. Her condition is known

as:

(A) Stunting

(B) Wasting

(©) Underweight
D) Obesity

Spinning in washing machines is meant to :

(A)
(B)
(©)
(D)

dry the clothes
rinse clothes
extract water from clothes

wash and dry clothes

Public Service Announcements (PSA) are repeatedly shown for how many seconds on
your television ?

(A)
(B)
(®)
(D)

(a)
(b)

Aim of Red Ribbon Express was to spread awareness on the issue of _

(a)

10 to 50 seconds
10 to 60 seconds
15 to 30 seconds
30 to 60 seconds

Ergonomics is the relationship between man, - and his __
OR

Besides a good salary, an employer can ensure job satisfaction in his employees

by and
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(b) Identify this craft. In which State is it popular ?

Note : The following question is for the Visually Impaired Candidates only, in lieu of Q.No. 11.
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(a) Which craft is popular in Assam ?
OR
(b) Name a popular craft made in Karnataka.

Draw a standard mark found in pure gold jewellery.
What are the two main objectives of SEWA ?

(a) Name any two high risk foods.

OR
(b) Research in the field of food technology has been conducted for decades. Nicolas
Appert developed _____ process.
SECTION B

(Case study based questions)
Case study 1 (Q. No. 15 to 18)
Consumers are the primary component of a socio-economic system. As the purchasing
power increases, people tend to purchase products that will give satisfaction and a
symbol of prestige. But many a times they end up buying substandard goods and get
cheated by the shopkeepers. For this, they must exercise their right to redressal.

What do you understand by consumer footfall ?

(A) Behaviour of consumers

(B) Number of products

©) Number of consumers visiting a store
(D) Consumer product

Which standard mark should consumers check while buying a bottle of mineral water ?
(A) ISI

(B) FPO

©) AGMARK

(D) AGMARK and FPO

4
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Right to redressal means consumers have right to : 1

i. be protected against hazardous goods
ii. be informed about quality of product
iii. fair settlement of his genuine grievance
iv. receive compensation

Select the correct option :

(A) iand ii
(B) iii and iv
(C) ivand i

(D) ii and iii

Which of these malpractices can vendors adopt to cheat their customers ? 1
i. Standard mark has license number

ii. Weights are hollow

iii. Measures have false bottom

iv. Charge not more than MRP

V. Use table to measure cloth

Select the correct option :

(A) i, iv and ii

(B) iii, iv and ii
(C) iv, vand i
(D) ii, v and iii

Case study 2 (Q. No. 19 to 21)

The professional clinical nutritionist uses a systematic and logical approach to the
nutrition care process, focusing on each patient’s needs. Besides this, nutrition and diet

therapy are used to improve the overall health of patients with a wide range of

conditions.
(a) Your friend is suffering from kidney failure. The dietitian will not give him diet : 1
(A) low in fat
(B) rich in oxalate
©) low in sodium
(D) low in protein
OR
(b) Your friend is suffering from hypertension. The dietitian will give him diet low in: 1
(A) calcium

(B) protein
(o) iron
(D) sodium
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(a)

(b)

The dietitian has asked you to give soft diet to your brother. What will you serve
him ?

(A) Fruit juice

(B) Khichri
Q) Butter milk
(D) Coconut water

OR
Your mother has been operated yesterday. The dietitian has asked to give her
liquid diet. You will give :

(A) thick tomato soup
(B) thin khichri
©) fresh orange juice

(D) strained daal soup

Mechanical diets are suggested by the dietitian to elderly patients who have

(A)
(B)
(®)
(D)

difficulty in chewing
constipation
hypertension

diarrhoea

SECTION C

Briefly explain the two aspects of care and maintenance of fabrics.

Mention any two challenges faced by handicrafts industry. In what two ways is the

government trying to help revive this industry ?

(a)
(b)
(a)
(b)

Explain the role of HACCP in ensuring food safety and quality.
OR
Differentiate between CODEX and ISO.

Write any four salient features of development communication.
OR
What do you understand by a campaign ? Why are they effective ?

Which four skills would you check before hiring an early childhood professional ?

You are a clinical therapist in a hospital. Which four activities would you adopt for

nutritional care of patients ?

The primary objective of early childhood care and education is the holistic development
of the child and preparation for school. Justify this statement with the help of three

examples each.

6
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(a) Differentiate between the laundry procedures of hotel and hospital laundries.
OR
(b) 1) How do the clothes get cleaned by agitation and tumbling methods in
washing machines ?

(i1) Which type of drier would you choose for your home ? Why ?

(a) Ilustrate any two ways of creating rhythm in sari and blouse dress, with the
help of diagram.

(b) Suggest a suitable print and texture of a salwar kameez for a girl who is short in
height.

(c) Briefly explain any four factors that you keep in mind while selecting colours for
your dress.

(a) All children are vulnerable, but some children are more vulnerable than others.
What can be its four reasons ? In what four ways does SOS Village help these
children ?

OR
(b) Identify any four causes of youth being vulnerable in India. In what four ways

does Nehru Yuva Kendra help these youth ?

Identify four ways Staphylococcus can cause illness in your family. Suggest any four
ways to your cook to prevent this infection.

Suresh has got appointed as an assistant housekeeper. Who all will work under him ?
What responsibilities would he assign to each one of them ?

What do you understand by the following foods ? Give one example of each.
(a) Formulated foods
(b) Synthetic foods

(¢) Food derivatives
(d) Medical foods
(e) Manufactured foods

As a health worker, you noticed that most of the children in the village have pale
yellowish skin.

(a) What do you think they are suffering from ?

(b) Mention any three additional consequences on their health, if they are not given
timely treatment.
(c) Make their parents aware of nutrition-based and diet-based strategies so that
they can improve the health of their children.
(d) What two government programmes are operational in our country, for such
children ?
(a) 1) Merchandising is done at which three levels ? Explain in detail.
(i1) What two skills should a merchandiser possess, to be successful ?
OR
(b) (1) What do you understand by target market ?
(i1) In what four ways can the market be segmented ? Explain in detail.
7
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QUg H
TEGHS U

it TR o HEL T T 1T a1 L T 28 | B o HiHD ITohl [hrEd T hrara!, it
T (guest cycle) & -8 WO T HT ?
(A) AMHA
(B) TEITH
(C)  ATHA-YE 3faE
(D) W I T

Heredl arfufem, 1948 & ER, Sl o T JIEg™ BHT AT |
A 9IS
(B)

ST
(C) B s= & forw fmyeea
(D)  wfgasti i gean
sreeft-anffa oft vt s g anfior & # wa ¥ | fafeem Tewe % foe, 98 wEf @ Aeg @ @
87
A) 3 e Fg (3 TX)
(B)  meRd fufhcam c@ae sg
(C) 3 (9g) ¥al g
(D) JgrEEr Hed
(a) Toeg wefla =1 90 @ 9o & e ula-=dht (dsat) foram foepfia &t 2

(A)  3E™ TR
(B) il wrE
(C)  HHR e XIV
(D) Il IAA
3AYAT
(b) w9 s % fou fhmm vga 61 2
A e R
(B) ot wm
(C)  due 934 XIV
(D)  HIhl A

9ok TS = e We 3R Il Ye o a1y ficfl o€ uah g3 8 | 35k TIemeh ohl TT A1sH1 1 & ?

(A)  fafsrsearqul deEd (Accented Neutral)

(B) Tehaufi ﬁ'ﬁﬂ (Monochromatic)

(C)  o7avff S (Achromatic)

D) 37T (Analogous)

(a)  Toocl 9f= a9 § 3Tk WIS &1 H3 ¢ &l 81, R 3Heh HRUI T H&T § IH! g
e HY 7 | 3T 3H TTEYT I FAT Hgl Il § ?

(A)  SHTH
(B) tEpEA|
(C)  ITUHR
(D)  HieH
HAUAT
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(b) U §EA IgA TSl @ Wl IEeT A9 IHEd H FH 7 | IFh! 3G ST B HT el
ST @ 2
(A) AT
(B) EREN]
(®) IUHR
(D) W
IR TR T =shUT SRl 329T T B 2
(A)  HUSH H @
(B) HIS ! I
(C)  husi ¥ Ul Ferrern
(D) %YL T I F@H
Hrasi-eh TaT =N (PSA) S-SR 37 doifase R fohad Tehg & fou fewms St 8 2
(A) 10 & 50 Ths
(B) 10 ¥ 60 Ths
(©) 15 & 30 TS
(D) 30 ¥ 60 Uhe
(a) HIH, 3T 3GH & o= Geg I AT (Ergonomics) HEd
7 |
arerat
(b) U 31T da o M, U R, oTu it § St i wgfee ghfeaa 0 &
o 3R L Tl 7 |
T fam weaia #1329 % e T ANTEHAT heT o |
(a)

S g ?
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(%)  omm i B Rres i 2 7

rera
(@)  leeh H SHIT 7T Ueh AlhS 31eq 1 91 Fdse |

g T % SO W 59 T g 1 o e |
AT (SEWA) & 1 J&F 3290 1 7 ?

(a)  Toredl Q1 srcaferes Siiflam atet @ werelt (high risk foods) & AT SdTST |
AT

(b) TR W W Nkl % & § TgEy™ fhy mu § | @ 37w (Nicolas Appert) d
FIERICIRCE R C Il

e ™
(e T2t e ue)

+8 et 1 (1.9, 15T 18)

UNIHT Tsh ATHITSTehR-3TTTfeh JuMelt o il o2 3 | SH-98 v W el &, <N U8 3Icdmal
1 @le T & S TS 24 8 S ITdsal T Tedleh s & | ifehd g a1 o =iean wmH @iied §
3R GHMGRI | 9TET W1 91 & | 399k {78 378 370 HamoT < STfeehi & SR ST =T |

3T IUHRT FATTHT AT (consumer footfall) & T THSA & ?
(A)  SUMIHISTT 1 SATER

(B)  3cdIgi <l e

(C) U WR W AW Iret IuARRISA hl T

(D)  I9HIH IUTE

T e gt bl Sider @iied 99T IUMIHIST 1 i9-8 A g h I el =gy 2
(A) TS . UH.3TTS.

(B)  Uh.H.3M.

(@) AT

(D) W 3 T3,
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Framor & AR &1 w1 3 B 2 IUWREIRAT i ATHR 7
i. Sifgw Icarel © s=d 8/l

ii. 3cdTE <hl TUTET < T § 38 SIar S

iii. 3Ieh! TRt e o1 3fud e fopan s

iv. gferqfd ST T
FIE'T IEETR ﬂﬁE :

(A) i

(B) i3 iv

() iv 31T i

(D) i 3 iii

forsha, 379 TTEhI 1 ARG & o [TU, 370 § -8l Harcl I Thd & ?

i. A g | dgEy ge B
ii. WEA I T ST Heh

fii.  3W gL qA AT W I T ITAN Hleh

iv. .. d. (MRP) & 1feeh 99 9 @1
FUS I WY & TIC AT T STIT HEAT

Hﬁﬁﬂ»—qgﬁq

(A) i, iv 3R ii

(B)  iii, iv 3R i

(©) iv, v 3 i

(D) i, v 3 iii

&8 T 2 (1.9, 19F 21)

IR TR TuT foRies 9w qEwTe SfshA % foiT s Safedra SR dmfehes giEehivn w1 IS
A & | T8 Tdh W I ATagTharstl W &IH d & | 38 AT, N9y 7 MR Ferfehean
I fareqa St o TR % 9oy Tl § gUr aM o g fhan S @ |

(a)  1ueh! T T8 <l faperar @ difea B | smeR fasive 3 JMER & & |
(A) TEHwH
(B) JTRETIeE ¥ WL

(C) wifeamdsn
(D) IH T HA
Jroran
(b) A9eRT i 3= TR @ difed B | TER fomivg 35 3Tmer | <1 9 %A
F A |
(A)  hicerm
(B)  WRN
(C) g (ImE)
(D)  wifeTm
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(a)  TER FomINg 3 STYeh] 3199 HTE o] T MER &7 o 70 gl & | 3719 3§ &1 W ?
(A) Bl BT
®B) T
(C) ]
(D) AT g

era
(b)  STTYEhI AT 1 ol AT 3T 2 | BN foRINS 7 I8 WA TGN & I a1 8 | 39 I3
TS ?
(A)  TITGT THTE T T
(B)  uddl fE=eEt
(C)  dml Gl W
(D)  BMI g A sl It
IR 33T, HATER et grn g7t YRR i goe 9 & = T TS | |
(A) =& H Hies
B) heal

(®) HW
(D)  IFfER

QuUg T

T T @I IR TEETT & < TgG3T ! i T qHAST |

FEAnTed IT i fhedl g Ao 1 3g@ hIT | 39 3Tl GASAad s | TR ok
el T Tgg H I IR & B 2

(a) T g IR uEdn gifeead s 8§ HACCP (Ta.u.d. 8 dt.) 1 e s Sifsu |
HAAAT
(b)  wigad (CODEX) 3R 38.ud.31. (ISO) & = I T¥ HIfTT |

(a)  fom =R i g IR geF foRward sary |
Jrra

(b)  TH ANEH | Y F THIA & ? Ig YU R & ?
IR STCATTET o SAEHTRh H HIH-H TR IS i @ L AT 3Irg IH DAl ?

AT Teh IRUATA | el fafhcds & | 7S 6l Nuv-gee) @9 & fu 9 -8 9]
TfafafeRy sToma ?

TRYeh STeATaE q@uTd 37 e & o 3w g o1 Ty o ot fornmey & fow aardt 2 |
58 o I gfE - el ki wErEaT § i |
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(a)

(b)

(a)
(b)

(c)

(a)

(b)

Bleadl IR LIl o EATS TR o s 1 hl Tfshateti & st 3TaX TE iU |
YT
(i)  Yos wfAT H, SIeied (agitation) 3T TG (tumbling) & i ¥ HUg HA
% B @ ?
(i) 379 T % T 3719 HH-F Y&k T TIF HAT 2 HT ?

for <Y Tiee © 1) 3TN AR TNk H & S o hig &l dileh WSy |
T B ha hl AGeh! o [0 Teh HOGR HHN & T Ik fie 3R sHEe &1 goma

@R |
SO Wees & T T o1 == Hd 9T 319 fohd IR hReh! T €A W& 2§89 H

HHARY |

vl 5= FaEwiid 210 &, A $8 w= gEll I ITuEn fueh HaeEid B 7 | 36
IR ST AT & Tohd & ? WE.IALTE. (SOS) Tia g9 o] shl fohd IR 0@ ¥ Heg il

77?

Jrra
IR § JaTed o TG BH & I3 IR SRV YgATHT | 9g& JaT hy 3T JATST I,
fort 9" TE @ HEg w1 B ?

W(Staphylococcus) g Ak qRER T fohT =) ol & fiuil B gohdl 8 2 39
TShHUT i ekl oh TTT, 3194 THISY i I IR dLleh AT |

T I Teh TG LA o €9 H e 51 T 2 | 38eh 37ef S-S HM ST ? 3 d6
I I8 FA-FAT et | ?

famafafad @i @ 319 = g9 @ 2 9% 1 Uh-Ush 3218 Sl |

(a)
(b)
(c)
(d)
(e)

RO GIERARCIE
HyANT @rE
CIBRS

Tafercdim @@
fafafia @@

TITES HRIHAT & A1d, G G o 1id 3 Aferemier s ol coren fiefl B |

(a)
(b)

(c)

(d)
(a)

(b)

aT9es fomm d o fopm T @ ifga 8 2

afg I8 T T ITER 7 fed I, @ I T@EA W B AT HIg 3 A GO
Bl Hehd B ?

Ik AMYWTEh! I NTUT-ATEMRG 3T SMER-NeE FRHIET & IR H S <hifo,
18 9 94 <Al <l TaTEe UR Hoh |

U8 S % T R 29 H HH-Y A TR SRIHH HEId § 2

() M I § AR (A=) for O Tl ®= g 7 2 fowar @ "wsmsu |

(i) T BH & T, Th UR (He-SEeR) H -8 T i g =TEY 2
arran

(i) fed IR & A9 1 T9eid & 2

(i) oo = ford =R gr ¥ fawifora fomn S gehar 8 2 faear @ ww=msT |
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